smtths interconnect

NXS Series

Ultra-High Density, Space Qualified Interconnect




smtths interconnect

NXS Series

Ultra-High Density, Space Qualified Interconnect

Hi|O| =+ Z|CH 50 Gbps
1% 2F 208 =

AMA Sl HAE

A HEO H2 Mz

u

m OIO|EZ=Z0|E He J|s

m ZCi7} 9t PCB B}

n 4% 124/0] 7Y
LsH 2F fd2 ML S U= E MSsHH = A2

_*_‘] DlE I:l_l-x
RF OF 21 7|8t Ho|2E0M &2 K|z S
HMZsh= CIXIE £ T2 MM OF7|BINZ 1 n 5237 YTS HTY
7|&0| H3tstn Q&LICE 0|2{St o7 |EIN = = ESCC 3401
= = ESCC 3402

AN & AZA gt +=2E S7HAIZLC. = ECSS-0-ST-70C

m  ECSS-Q-ST-70-02
A @7 AEE FFSHI| I8l Smiths Interconnects FEY = ECSS-Q-ST-70-08C
KMEH GIOJEIS RMBots 14, DU Mz AZ AL NXS o EEEORBISISEEE
NCIES R TR = ECSS-QT0T

Hypertac® SIO|EZ=Z0|E 7|&0| ZAME NXS AAR2 2100 G
oj&e| ZlE, 52 9l 7|F HIAEE ZEsto] 2|ch 50 Gbps(HI0IH)
O] HIO|Ef £=E HE & UBLICEL NXS A2|=& 470 E= 12749
12 quadrax(dual-twinax) 2E0| Z&HEl X2 MA| E|AELICE
2} 2L quadrax ZE0E 8 W 2719 0|F twinax(100 Q)
B0 QELICH st Al2| = S2tels 9l gtEe{a WAooz
tod 20| 0f =1 7tA BhEO0| M&LCt
t, &071 gl PCB &% dAle /¥ 24 % RX| HIES
Lot H4YEE 2IEZ2(reflow) O0|=0f H&z|H ZFiH
FES OIX[X| S&LICH 2 ®ME2 3D MAE7| AlE0|M
ATZEQOE Soll MAEACH HA| sfok S™HoA 250t
HlZgLct,

my N
rot ot
oF

= M

-

0% 7 I MY +A
or<mH 2

mjo



smtths interconnect

Technical Characteristics

Materials and Finish

7{4dlE] E2{A/2|MEE &

LiE #(Quad 2 E)

ol 2
= ORZ A L& 2o 2
72 33
':.-_|‘I|' obzExd: L2 2olof =
PR L[ 210 2
HAN/FA| PEEK
7to|E EX| AH|QIE|AAE gl E[EHE B2
EERL SRl

Specification

oH 71 H 4 AZ
s ek 50 V RMS
M 1A

il
°
n
r
o>
I

=

H|o|' %|T 50 Gbps

olm|E A 100 Q +10%

HE 150 mQ

HA XeHA]A] 1G6Q

s 2 Hel ~40 °C~125°C
A

Lid 500%] %7

(Mlole 7} Z2tel ZEt/22|)




smtths interconnect

Connector Outline Drawings

NXS Receptacle

A 16.2
M2 x 0.4 in 4 positions

Panel mounting

G? 2|2 [ﬁ >
%} o ij I

See polarising LH See polarising RH

| anoo,

oM [

(6]

0
<

}@@ OO0 DO
OO0 OB
OO 000 00
OO0 OB

D
Lo N B B "\.__M2x0.4 in 4 positions
PCB mount

5.35

4 x Panel Fixings; M2 x5 LG
SMITHS P/N: HA-5012
Supplied with receptacle

2 x Jack Post
M2 x 0.4-6H thread

4 x PCB Fixings; M2 x12 LG
SMITHS P/N: HA-5015
Supplied with receptacle

YHE[0] HISE= TAF - 2 quadrax 2=0= 2 X 100 O AHS&0| ZEE(0f JAELICE




smtths interconnect

Recommended PCB Footprint

1.9 Typical

Optional Gnd contacts
for shell screeening

1 2 3 :
/ + 1 + -+ + 1 + ]
@Gnd @ ® @
@1 @ ® ®
@ 8T ® @ ® @ | ol T
2 \ ®Gnd @ © @ \ - Il
< @2+ @ ® @ ®| @ o
o \ b e © o o AR \/ |-
< @Gnd @ @
Al ) " S ol e
5.35 D
@ 0.75 pad
‘
@ 2110 through £
CSK to @ 4.30 x 90° inclusive g
on reverse face in 4 positions x
E
T 1 1 \
2 : J4- J+- : %
Recommended Panel Cut-out
2.00
F 1.75
| =[0.12
6 |
R2.70 in 4 positions
o -
— N
N 7 e
o ( Jf
[o0]
. %
1 g SN S
Q"
M
R1.10
8 positions @ 2.30 through
H CSK to @ 4.60 x90° inclusive
> N in 4 positions
A
7HH X5
o A B C D E F (c] H
4 23.6 29.1 22.1 3X3.8=11.4 22.1 26.3 17.65 23.6
12 54.0 59.5 52.5 11%38= | 525 56.7 48.05 54.0




smtths interconnect

NXS Plug

1.98
1.92

—
14 .5)max

0
ad
0
a
19.1

LJQLﬁt 2l

Ident: Bay .1 - Pair .1

T

See Polarising LH See Polarising RH

Retainer
SMITHS P/N: HXS-0021-M

Insulator Supplied loose with plug.

SMITHS P/N: HXS-0020-M
Supplied loose with plug.

2 x Jack Screw

M2 x 0.4-6G thread i
Sermm e

A
71 X
o

4 - 29.2 -

12 - 59.6 -
S i
n E2{0= A A0S KX HAM' 2 '1 S='0 &M S ELCH
m  A|0|= THXIO)| CHEE XbMIBE LHE2 "Accessories”, on page 92 &ESHUAIL.
= HZ A0|E(100 Q A5, 50 Q Al=-kHH):

- WL GORE GSC-05-83111-00
- TENSOLITE 540-1153-000
- AXON AM526-A07

X 4=(TH2l: mm)



smtths interconnect

NXS Saver (Plug)

I Posidrive

I pan head

= oonn e

8.4

1 o T

5.9

See Detail

0 |

Detail

U]
°
<\
: (
o~ | o
> . | \/3V4 /\
: 12
| -/ _
I
| L
| Polarising LH
See Polarising LH See Polarising RH I

Mounts to plug

Alignment mark

Fixings may secure
to receptable saver

N
rk
P
1

m 4 A B C
4 35.1 40.1 -
12 65.5 70.5 -




NXS Saver (Receptacle)

3.2 A/F

.

See Polarising LH

Fixings secure
to panel

Mounts to
receptacle

40.1

See Polarising RH

70.5

smtths interconnect

Detail




smtths interconnect

Accessories

AMd Smiths Interconnect 2E Hs
FHH|E| T2 HXS-0060-107
== [J=gnks HXS-0021-M
HXS-7009
Xt 71E HEZe Mo Y1 Y T2 BH0| UXO| MO TIH £ YBLICE
ME F|E L2 ot E XESIMAIR!
Cix} o HYP-7049-H-117 (7| E0i| HIZEl Z2X 2)
23 Ctx} HHSC-0156-100 (7| E0i| H2E AL X 4) /
HAM|/SHA| HYP-6944-M (7| E0f| HZE H2X 2)
AH|O|A HXS-0065 (7| E0f XMZE AL X 4) k

=o3 #|0|= B

(Twinax - 47| 4¥8)

Socket contacts Solder joint between screen
100 Q differential pair braid and contact outer

/

Cable-screen Cable

3 g

AE2|Tol TSt KA LHS S XS KRS HESHIAIR.




How to Order

smtths interconnect

1 2 3 4 5 6 7
1 | A2l= X PSRGEESES)
2 "= . 4-H]|0] 12 quadrax (0|F twinax)
12-H#|0] & quadrax (0% twinax)
3 |24 o [EEEE s IRUEICHEEE=)
K =aim s ENEESREC)
4 |EERRY IN =zl 2ot gt peElElz 8)
Kl == etol (=2
7S] Mot
5 |4 /o =8 41 (PEEK 30% 4 £% / L|Z 9lof 2)
%20l B2 / L2 9ol 2(4ol EX)
6 |2M/7t0|E3 Jt01 9I%| A BN stol= 2ix1
7t0|E 9IX| B n 7}0|Z 2%| 2
740|Z 9I%| C 7}0|Z 2% 3
7}0|Z 9% D n 40| 9I%] 4
7 | 2Euy 2
-
(1) E2{3& ctxt glo| MBELICh #Ho|& TthXt 7| E0] thal "Accessories”, on page 92 & ZstMA|2.
9hx wig TRt Q80| 29 SX| FYAR 2ols0] FAAIR.
(2) HHE MOlB= LIZ Oixy 9l0 202 E2% 220|502 HZELCH
(3) 712 70l= 9kl ‘ALLICH



smtths interconnect

I:II_=|7C I'c'é)l'

- -

E EMO| ZotE RE WSS QI SAIQ Mttt HEE J|#oZ BILICE Cigh AM2 XM= 2 820 the HEQ MY S /HENMOoZ Yotstn
HE0| HMESH K|, Atg % |X| #2|=[=X| &lst= Ao E&LICt

Smiths Interconnect= HEO| MM = MM Cifst HESt 2L HEHA| AOH HE At 2 E D E MAS HOISL|Ct SAt=
7l L EE EY AT 27 Al et A 3 ARES 2EE £ JAGLICH

HAIX 5171 Q0] EA Q| LHE 8l 22 EX| &= A= A2 SXIELICt




ZMA
K&

HHE]
0|=

ol

connectors.uscsr@smithsinterconnect.com

JIed x|
connectors.ustechsupport@smithsinterconnect.com

o2

T e

T
connectors.emeacsr@smithsinterconnect.com

7123 X
connectors.emeatechsupport@smithsinterconnect.com

OfA|OF

mhoj

asiacsr@smithsinterconnect.com

JIed X
asiatechsupport@smithsinterconnect.com

1R % RF A

ZHoj
focom.uscsr@smithsinterconnect.com

J1EH X
focom.techsupport@smithsinterconnect.com

oH
M

oz

T e

Ztoj
focom.emeacsr@smithsinterconnect.com

71X X3
focom.techsupport@smithsinterconnect.com

OFA[O}

THoj
focom.asiacsr@smithsinterconnect.com
J1Ed X2
focom.techsupport@smithsinterconnect.com

XiM|st LHE2 smithsinterconnect.como]|

Copyright© 2023 Smiths Interconnect | All rights reserved | Version 1.3
=2 EMO ZeE YEE +F 22| 7F 2 EE QF Aol X8ttt

QX B AE
0|2

mhoj
semi.uscsr@smithsinterconnect.com

JIed X2
semi.techsupport@smithsinterconnect.com

o2

T e

ol
semi.emeacsr@smithsinterconnect.com

7128 XA
semi.techsupport@smithsinterconnect.com

OfA|Of

ol
semi.asiacsr@smithsinterconnect.com
7127 x|gl
semi.techsupport@smithsinterconnect.com

RF/MW 5t] A|AR

0|2, 2 % ofAlo}

ZHoj

subsystems.csr@smithsinterconnect.com

71X |3
subsystems.techsupport@smithsinterconnect.com

M EoIEt 2 UAL|CLin Y ©



